Year 9 Autumn 2 Rolling Recall Start

Information

Name You have 10 minutes to complete this recall task.
No calculators allowed.

Score /10 Show all your working out in the space provided.

To be completed after marking the rolling recall

Question numbers | need to complete more work on:

1 [Make x the subject
y=x+3
Mark
|Sparx maths task: U553
2 Il\;cvthe larger share is £90 in the ratio 5: 2.
hat is the value of the smaller share?
Mark
Sparx maths task: M525

m Archway
Learning Trust



3 |Whatis the gradient of the line with
equation y=2x+ 37
Mark
|Sparx maths task: U669
41324 -6 =
Mark
|Sparx maths task: M958
5 What is the area?
Mark
10
(2
12
Sparx maths task: M610

m Archway
Learning Trust




Expand and simplify (x + 2)(x + 3)

Mark
|Sparx maths task: M960
7| Simplify 7cm : 49mm
Mark
|Sparx maths task: M885
X
8 |Solve5+ 7 =23
Mark

AR

Sparx maths task:

Archway

Learning Trust




What is the 6th square number?
Mark
|Sparx maths task:
Work out the missing angle?
=
1360 Mark
y
131° 940/_
|Sparx maths task: M653




Year 9 Autumn 2 Rolling Recall Middle

Information

Name You have 10 minutes to complete this recall task.
No calculators allowed.

Score /10 Show all your working out in the space provided.

To be completed after marking the rolling recall

Question numbers | need to complete more work on:

1 [Make x the subject
y = 4x
Mark
|Sparx maths task: U553
2 Il\;cvthe larger share is £60 in the ratio 4: 3.
hat is the value of the smaller share?
Mark
Sparx maths task: M525

m Archway
Learning Trust



3 |What is the gradient of the line with
equation y=5—2x7?
Mark
|Sparx maths task: U669
41452 +4 =
Mark
|Sparx maths task: M958
5 What is the area?
8 Mark
6
10
Sparx maths task: M610

m Archway
Learning Trust




6 [Expand and simplify (x + 2)(x — 3)
Mark
|Sparx maths task: M960
7 Bimplify 2.4m : 120cm
Mark
|Sparx maths task: M885
X
8 ISolveg— 7 =23
Mark
Sparx maths task:

m Archway
Learning Trust



9 What is the 13th square number?
Mark
|Sparx maths task:
10 |Work out the missing angle?
Mark
y
135° 132°
|Sparx maths task: M653

AR

Archway

Learning Trust




Year 9 Autumn 2 Rolling Recall End

Information

Name You have 10 minutes to complete this recall task.
No calculators allowed.

Score /10 Show all your working out in the space provided.

To be completed after marking the rolling recall

Question numbers | need to complete more work on:

1 [Make x the subject
y=2x+3
Mark
|Sparx maths task: U553
2 Il\;cvthe larger share is £120 in the ratio 3: 2.
hat is the value of the smaller share?
Mark
Sparx maths task: M525

m Archway
Learning Trust



What is the gradient of the line with
equation y = —6x — 1?

Mark
|Sparx maths task: U669
Mark
|Sparx maths task: M958
5 MWhat is the area?
Mark
Show Scm 13cm
your
method
12cm
Sparx maths task: M610

m Archway
Learning Trust




6 |Expand and simplify (y —4)(2 — y)
Mark
Show
your
method
|Sparx maths task: M960
7 |Simplify 350mm : 0.2m
Mark
Show
your
method
|Sparx maths task: M885
X
8 ISolveg— 7 =23
Mark
Sparx maths task:

m Archway
Learning Trust



9 What is the 15th square number?
Show
your Mark
method
|Sparx maths task:
10 |Work out the missing angle?
Show Mark
your
method
|Sparx maths task: M653

m Archway
Learning Trust




